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Botany: Cell: The Unit of Life, Zoology: Structural organization in animals 

Chemistry: Haloalkanes & Haloarenes, Physics: Semiconductor Electronics 

 

1. Who was the first one to see a living cell? 

1) Robert Hook 

2) Leeuwenhoek 

3) Robert Brown 

4) Pasteur 

 

2. In both plain and animal cells the main arena of 

cellular activities is their 

1) Mitochondria 

2) Nucleus 

3) Nucleoplasm 

4) Cytoplasm 

 

3. Which among the following cell organelles in 

eukaryotes are not membrane bound? 

a) Lysosome 

b) Vacuole 

c) Mitochondria 

d) Centrosome 

e) Chloroplast 

f) Golgi complex 

g) Ribosome 

1) c and e only 

2) d and g only 

3) a, b and f 

4) c, d, e, g 

 

4. The small bristle like fibres helps bacteria to attach 

the rocks are 

1) Flagella 

2) Pili 

3) Fimbria 

4) Glycocalyx 

 

5. Several ribosomes may attach to a single mRNA 

and form a chain, is called 

1) Polysome 

2) Mesosome 

3) Nucleosome 

4) Dictyosome 
 

 

1. capUs;s nry;ypid Kjypy; fz;ltu; ahu;? 

1) uhgu;l; `_f; 
2) yPntd;N`hf; 
3) uhgu;l; gpuTd; 
4) gh];lu; 

 

2. ntw;W kw;Wk; tpyq;F nry;fs; ,uz;bYk; 
nry;Yyhu; nray;ghLfspd; Kf;fpa muq;fk; 
mtw;wpd; 
1) ikl;Nlhfhz;l;upah 
2) cl;fU 

3) epA+f;spNahgpshrk; 
4) irl;Nlhgpshrk; 

 

3. A+fhupNahl;fspy; cs;s gpd;tUk; nry; 
cWg;Gfspy; rt;tpdhy; #og;glhjJ vJ? 

a) iyNrhNrhk; 
b) thf;FNthy; 
c) ikl;Nlhfhz;l;upah 
d) nrd;l;NuhNrhk; 
e) gRq;fzpfk; 
f) Nfhy;fp njhFjp 
g) iuNghNrhk; 
1) c and e only 

2) d and g only 

3) a, b and f 

4) c, d, e, g 

 

4. ghf;Bupahtpy; ,iofs; Nghd;w rpwpa Kl;fs;> 
ghiwfSld; xl;Ltjw;F cjTtJ 

1) /gpshn[y;yh 
2) igyp 
3) /gpk;g;upah 
4) fpisNfhfhypf;]; 

 

5. gy iuNghNrhk;fs; xU xw;iw mRNA cld; 
,izf;fg;gl;L xU rq;fpypia cUthf;fyhk;> 
,J ,t;thW miof;fg;gLfpwJ 

1) ghypNrhk; 
2) kPNrhNrhk; 
3) epA+f;spNahNrhk; 
4) bf;bNahNrhk; 
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6. ‘A’ is the main tissue that provides structural 

frame to the body. ‘A’ is type of ____. 

1) Epithelial tissue 

2) Connective tissue 

3) Muscular tissue 

4) Neural tissue 

 

7. Brood pouch in a female cockroach is formed by 

1) 7th sternum only 

2) 7th, 8th, and 9th sternum 

3) 9th, 12th, 11th sternum 

4) 11th and 12th sternum only 

 

8. Select the odd one w.r.t. location of non-striated 

muscles. 

1) Wall of blood vessels 

2) Wall of heart 

3) Wall of stomach 

4) Wall of intestine 

 

9. Choose the correct match among the following 

w.r.t. cockroach. 

1) Anal style - Responsible for sexual 

dimorphism, present in females 

2) Spermatheca - Single, present in 6th segment 

3) Titillator and pseudopenis - Constitute the 

right phallomere in males 

4) Phallic gland - Part of reproductive system in 

male 

 

10. Choose the correctly matched pair. 

1) Tendon - Dense irregular connective tissue 

2) Main pancreatic duct - Glandular epithelium 

3) Inner lining of salivary ducts - Ciliated 

epithelium 

4) Blood - Fluid connective tissue 

 

11. One of the products of photochemical 

monochlorination of butane is 2–chloro butane 

the product obtained as 

1) a meso compound 

2) a dextro rotatory compound 

3) a laevo rotatory compound 

4) a racemic mixture 

 

 

 

6. 'A' vd;gJ clYf;F fl;likg;G rl;lj;ij 

toq;Fk; Kf;fpa jpR MFk;. 'A' vd;gJ ____ ,d; 
tif. 

1) vgpjPypay; jpR 

2) ,izg;G jpR 

3) jir jpR 

4) euk;G jpR 

 

7. xU ngz; fug;ghd; G+r;rpapy; milfhf;Fk; ig 
,jdpy; mike;jpUf;fpwJ 

1) 7tJ khu;ngYk;G kl;Lk; 
2) 7tJ> 8tJ kw;Wk; 9tJ ];nlu;dk; 
3) 9> 12> 11 ];nlu;dk; 
4) 11tJ kw;Wk; 12tJ khu;ngYk;G kl;Lk; 

 

8. thpaw;w jirfspd; miktplk; gw;wp 
nghUe;jhjJ. 

1) ,uj;j ehsq;fspd; Rtu; 
2) ,ja Rtu; 
3) ,iug;ig Rtu; 
4) Fly; Rtu; 

 

9. fug;ghd; G+r;rp gw;wp rupahd nghUj;jj;ijj; 
Nju;T nra;aTk;. 
1) kyg;GioePl;rp - ngz;fspy; ,Uf;Fk; ghypd 

,Utifikf;F nghWg;G 

2) Spermatheca - xw;iw> 6tJ fz;lj;jpy; 
cs;sJ 

3) ill;bNyl;lu; kw;Wk; R+Nlhngdp]; - 
Mz;fspy; rupahd /ghNyhkpaiu 
cUthf;FfpwJ 

4) /ghypf; Rug;gp - Mzpd; ,dg;ngUf;f 
mikg;gpd; xU gFjp 

 

10. rupahfg; nghUe;jpa ,iziaj; Nju;e;njLf;f. 

1) jirehz; - mlu;j;jpahd xOq;fw;w ,izg;G 
jpR 

2) Kf;fpa fiza ehsk; - Rug;G vgpjPypak; 
3) ckpo;ePu; Foha;fspd; cs; Gwzp - rpypahp 

vgpjPypak; 
4) ,uj;jk; - jput ,izg;G jpR 

 

11. gpA+l;Nldpd; xsp Ntjpapay; 
NkhNdhFNshupNd~dpd; jahupg;Gfspy; xd;W 

2-FNshNuh gpA+l;Nld; MFk;> ,J ___ Mf 
ngwg;gLfpwJ. 
1) xU kPNrh Nrh;kk; 
2) xU tyQ;Row;rp Nrh;kk; 
3) xU ,lQ;Row;rp Nrh;kk; 
4) xU Ropkha;f; fyit 
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12. Which of the following has maximum dipole 

moment? 

1)  

2)  

3)  

4)  

 

13. p–Bromobenzyl chloride reacts with KCN in 

ethanol to give 

1) p–bromobenzyl cyanide 

2) p–cyanobenzyl chloride 

3) p–cyanobenzyl cyanide 

4) p–bromobenzonitrile 

 

14. Which of the following is an ambident 

nucleophile? 

1) CNˉ 

2) NO2
− 

3) SCNˉ 

4) All of these 

 

15. Identify the set of reagents/reaction conditions 

‘X’ and ‘Y’ in the following set of 

transformation. 

 
1) X = dilute aq. NaOH, Y = HBr/CH3COOH 

2) X=conc. alcoholic NaOH, Y=HBr/CH3COOH 

3) X = dilute aq. NaOH, Y = Br2/CHCl3 

4) X = conc. alcoholic NaOH, Y = Br2/CHCl3 

 

 

 

12. gpd;tUtdtw;wpy; vJ mjpfgl;r ,UKid 

jpUg;Gj;jpwidf; nfhz;Ls;sJ? 

1)  

2)  

3)  

4)  

 

13. p–Bromobenzyl FNshiuL KCN cld; 
vj;jdhypy; tpidGupe;J ___ nfhLf;fpwJ 

1) p–bromobenzyl raidL 

2) p–raNdhngd;iry; FNshiuL 

3) p–raNdhngd;iry; raidL 

4) p-bromobenzonitrile 

 

14. gpd;tUtdtw;wpy; ,Ujd;ik cila 
fUf;fth; nghUs; vJ? 

1) CNˉ 

2) NO2
− 

3) SCNˉ 

4) All of these 

 

15. gpd;tUk; cUkhw;wj;jpd; njhFg;gpy; cs;s 

tpid nghUl;fs;/ tpid epiyikfspd; 
njhFg;ig 'X' kw;Wk; 'Y' milahsk; fhzTk; 

 
1) X = ePu;j;j aq. NaOH, Y = HBr/CH3COOH 

2) X=conc. My;f`hy; fye;j NaOH, 

Y=HBr/CH3COOH 

3) X = ePu;j;j aq. NaOH, Y = Br2/CHCl3 

4) X = conc. My;f`hy; fye;j NaOH, Y = 

Br2/CHCl3 
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16. In a semiconductor 

1) there are no free electrons at 0 K 

2) there are no free electrons at any temperature 

3) the number of free electrons increases with 

pressure 

4) the number of free electrons is more than that 

in a conductor 

 

17. In a p–type semiconductor, the acceptor valence 

band is 

1) close to the valence band of the host crystal 

2) close to conduction band of the host crystal 

3) below the conduction band of the host crystal 

4) above the conduction band of the host crystal 

 

18. By increasing the temperature, the specific 

resistance of a conductor and a semiconductor 

1) increases for both 

2) decreases for both 

3) increases, decreases 

4) decreases, increases 

 

19. Match the following 

A) OR gate i) 
 

B) AND gate ii) 
 

C) NOT gate iii) 
 

D) NAND gate iv) 
 

1) A-iii, B-ii, C-i, D-iv 

2) A-i, B-ii, C-iv, D-iii 

3) A-iii, B-i, C-ii, D-iv 

4) A-ii, B-i, C-iii, D-iv 

 

20. A zener diode, having breakdown voltage equal 

to 15V, is used in a voltage regulator circuit 

shown in figure. The current through the diode is 

 
1) 10 mA 

2) 15 mA 

3) 20 mA 

4) 5 mA 

 

16. xU Fiwf;flj;jpapy; 
1) 0 K ,y; fl;lw;w vyf;l;uhd;fs; ,y;iy 

2) ve;j ntg;gepiyapYk; fl;lw;w vyf;l;uhd;fs; 
,y;iy 

3) fl;lw;w vyf;l;uhd;fspd; vz;zpf;if 
mOj;jj;Jld; mjpfupf;fpwJ 

4) fl;lw;w vyf;l;uhd;fspd; vz;zpf;if xU 
flj;jpapy; ,Ug;gij tpl mjpfk; 

 

17. p-tif Fiwf;flj;jpapy;> Vw;ghd; ,izjpwd; 
gl;il 

1) N`h];l; gbfj;jpd; ,izjpwd; gl;ilf;F 
mUfpy; 

2) N`h];l; gbfj;jpd; flj;J gl;ilf;F mUfpy; 
3) N`h];l; gbfj;jpd; flj;J gl;ilf;F fPNo 

4) N`h];l; gbfj;jpd; flj;J gl;ilf;F NkNy 
 
18. ntg;gepiyia mjpfupg;gjd; %yk;> xU flj;jp 

kw;Wk; xU Fiwf;flj;jpapd; Fwpg;gpl;l vjpu;g;G 

1) ,uz;bw;Fk; mjpfupf;fpwJ 

2) ,uz;bw;Fk; FiwfpwJ 

3) mjpfupf;fpwJ> FiwfpwJ 

4) FiwfpwJ> mjpfupf;fpwJ 

 

19. gpd;tUtdtw;iwg; nghUj;jTk; 
A) OR Nfl; i) 

 
B) AND Nfl; ii) 

 
C) NOT Nfl; iii) 

 
D) NAND Nfl; iv) 

 
1) A-iii, B-ii, C-i, D-iv 

2) A-i, B-ii, C-iv, D-iii 

3) A-iii, B-i, C-ii, D-iv 

4) A-ii, B-i, C-iii, D-iv 

 

20. xU [Pdu; ilNahL> 15V f;F rkkhd KwpT 
kpd;dOj;jk;> glj;jpy; fhl;lg;gl;Ls;s 
kpd;dOj;j rPuhf;fp Rw;Wfspy; 
gad;gLj;jg;gLfpwJ. ilNahL topahf 
kpd;Ndhl;lk; 

 
1) 10 mA 

2) 15 mA 

3) 20 mA 

4) 5 mA 
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NEET MICRO TEST 28 (08.12.2024)    20x4=80 MARKS 

 

Botany: Cell: The Unit of Life, Zoology: Structural organization in animals 

Chemistry: Haloalkanes & Haloarenes, Physics: Semiconductor Electronics 

 

Solution 

 

1. Answer: (2) 

2. Answer: (4) 

3. Answer: (2) 

4. Answer: (3) 

5. Answer: (1) 

6. Answer: (2) 

7. Answer: (2) 

8. Answer: (2) 

9. Answer: (4) 

10. Answer: (4) 

 

11. Answer: (4) 

 
 

12. Answer: (3) 

 
 

13. Answer: (1) 

 
 

14. Answer: (4) 

CNˉ, NO2
−, SCNˉ all are ambident 

nucleophiles which have two nucleophilic 

sites 

 

15. Answer: (2) 

 

16. Answer: (1) 

 

17. Answer: (1) 

The acceptor valence band is close to the 

valence band of host crystal 

 

18. Answer: (3) 

The resistivity of conductor increases with 

increase in temperature. The resistivity of 

semiconductor decreases as the temperature 

increases. 

 

19. Answer: (2) 

 

20. Answer: (4) 
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